

**BID NUMBER - PURCH 2015-004
CONSTRUCTION OF DOWELL ROAD WIDENING IMPROVEMENTS, PHASE I
MD 765 (HG TRUEMAN) STA. 100+18 TO STA. 134+00**

PRICING COMPARISON SPREADSHEET

Bidding Firm	Item 1001			Item 1002			Item 1003			Item 1004		
	Clearing & Grubbing			Type A Engineer's Office			5-Inch Yellow Nontoxic Lead Free Waterborne Pavement Marking Paint			5-Inch White Nontoxic Lead Free Waterborne Pavement Marking Paint		
	Unit Price (LS)	Est. Qty	Total Price	Unit Price (LS)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	--	--	\$35,000.00	--	--	\$125,000.00	\$1.00	13700	\$13,700.00	\$1.00	13700	\$13,700.00
Rustler	--	--	\$55,000.00	--	--	\$70,000.00	\$0.40	13700	\$5,480.00	\$0.40	13700	\$5,480.00
Corinthian	--	--	\$105,577.04	--	--	\$65,926.00	\$0.42	13700	\$5,754.00	\$0.42	13700	\$5,754.00
Reliable	--	--	\$50,000.00	--	--	\$35,000.00	\$0.45	13700	\$6,165.00	\$0.45	13700	\$6,165.00
Civil Construction	--	--	\$140,000.00	--	--	\$36,000.00	\$0.35	13700	\$4,795.00	\$0.35	13700	\$4,795.00

Bidding Firm	Item 1005			Item 1006			Item 1007			Item 1008		
	24-Inch White Nontoxic Lead Free Waterborne Pavement Marking Paint			5-Inch Yellow Removable Preformed Pavement Line Markings			5-Inch White Removable Preformed Pavement Line Markings			24-Inch White Removable Preformed Pavement Line Markings		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	\$10.00	204	\$2,040.00	\$3.00	20800	\$62,400.00	\$3.00	20800	\$62,400.00	\$10.00	164	\$1,640.00
Rustler	\$5.00	204	\$1,020.00	\$1.50	20800	\$31,200.00	\$1.50	20800	\$31,200.00	\$7.20	164	\$1,180.80
Corinthian	\$5.36	204	\$1,093.44	\$1.61	20800	\$33,488.00	\$1.61	20800	\$33,488.00	\$7.74	164	\$1,269.36
Reliable	\$5.65	204	\$1,152.60	\$1.70	20800	\$35,360.00	\$1.70	20800	\$35,360.00	\$8.15	164	\$1,336.60
Civil Construction	\$3.00	204	\$612.00	\$1.70	20800	\$35,360.00	\$1.70	20800	\$35,360.00	\$7.50	164	\$1,230.00

Bidding Firm	Item 1009			Item 1010			Item 1011			Item 1012		
	Removal of Removable Preformed Pavement Markings, Any Width			Removal of Existing Pavement Line Markings, Any Width			Maintenance of Traffic			Graded Aggregate Base for Maintenance of Traffic		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LS)	Est. Qty	Total Price	Unit Price (Ton)	Est. Qty	Total Price
Great Mills	\$1.00	41700	\$41,700.00	\$3.00	4400	\$13,200.00	\$450,000.00	1	\$450,000.00	\$40.00	4000	\$160,000.00
Rustler	\$0.22	41700	\$9,174.00	\$1.60	4400	\$7,040.00	\$120,000.00	1	\$120,000.00	\$42.00	4000	\$168,000.00
Corinthian	\$0.24	41700	\$10,008.00	\$1.73	4400	\$7,612.00	\$61,279.31	1	\$61,279.31	\$40.90	4000	\$163,600.00
Reliable	\$1.25	41700	\$52,125.00	\$4.25	4400	\$18,700.00	\$190,000.00	1	\$190,000.00	\$46.00	4000	\$184,000.00
Civil Construction	\$0.20	41700	\$8,340.00	\$0.30	4400	\$1,320.00	\$75,000.00	1	\$75,000.00	\$45.00	4000	\$180,000.00

Bidding Firm	Item 1013			Item 1014			Item 1015			Item 1016		
	Hot Mix Asphalt for Maintenance of Traffic			Temporary Traffic Signs High Performance Wide Angle Retroreflective Sheeting			Reset Precast Temporary Concrete Traffic Barrier for Maintenance of Traffic			Reflective Barrier Markers		
	Unit Price (Ton)	Est. Qty	Total Price	Unit Price (SF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price
Great Mills	\$120.00	1500	\$180,000.00	\$20.00	624	\$12,480.00	\$10.00	100	\$1,000.00	\$25.00	40	\$1,000.00
Rustler	\$90.00	1500	\$135,000.00	\$20.00	624	\$12,480.00	\$16.00	100	\$1,600.00	\$30.00	40	\$1,200.00
Corinthian	\$99.96	1500	\$149,940.00	\$23.80	624	\$14,851.20	\$10.71	100	\$1,071.00	\$14.88	40	\$595.20
Reliable	\$130.00	1500	\$195,000.00	\$26.00	624	\$16,224.00	\$31.00	100	\$3,100.00	\$50.00	40	\$2,000.00
Civil Construction	\$115.00	1500	\$172,500.00	\$18.00	624	\$11,232.00	\$20.00	100	\$2,000.00	\$25.00	40	\$1,000.00

Bidding Firm	1017			Item 1018			Item 1019			Item 1020		
	Type 3 Barricade for Maintenance of Traffic			Temporary Crash Cushion Sand Filled Plastic Barrels for Maintenance of Traffic			Remove and Reset Temporary Crash Cushion Sand Filled Plastic Barrels for Maintenance of Traffic			Temporary Orange Construction Fence		
	Unit Price (EA)	Est. Qty	Total Price	Unit Price (BBL)	Est. Qty	Total Price	Unit Price (BBL)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	\$350.00	4	\$1,400.00	\$400.00	16	\$6,400.00	\$400.00	10	\$4,000.00	\$2.00	2000	\$4,000.00
Rustler	\$320.00	4	\$1,280.00	\$300.00	16	\$4,800.00	\$110.00	10	\$1,100.00	\$3.00	2000	\$6,000.00
Corinthian	\$297.50	4	\$1,190.00	\$327.25	16	\$5,236.00	\$142.80	10	\$1,428.00	\$3.27	2000	\$6,540.00
Reliable	\$415.00	4	\$1,660.00	\$400.00	16	\$6,400.00	\$150.00	10	\$1,500.00	\$3.40	2000	\$6,800.00
Civil Construction	\$300.00	4	\$1,200.00	\$300.00	16	\$4,800.00	\$275.00	10	\$2,750.00	\$3.00	2000	\$6,000.00

Bidding Firm	Item 1021			Item 1022			Item 1023			Item 1024		
	Remove and Reset Temporary Orange Construction Fence			Drums for Maintenance of Traffic			Portable Variable Message Signs			Precast Temporary 32-Inch Frame Concrete Traffic Barrier		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (UD)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	\$2.00	500	\$1,000.00	\$125.00	500	\$62,500.00	\$50.00	200	\$10,000.00	\$50.00	240	\$12,000.00
Rustler	\$3.00	500	\$1,500.00	\$10.00	500	\$5,000.00	\$130.00	200	\$26,000.00	\$60.00	240	\$14,400.00
Corinthian	\$3.57	500	\$1,785.00	\$90.44	500	\$45,220.00	\$103.23	200	\$20,646.00	\$38.08	240	\$9,139.20
Reliable	\$4.60	500	\$2,300.00	\$115.00	500	\$57,500.00	\$32.00	200	\$6,400.00	\$175.00	240	\$42,000.00
Civil Construction	\$3.00	500	\$1,500.00	\$80.00	500	\$40,000.00	\$35.00	200	\$7,000.00	\$20.00	240	\$4,800.00

Bidding Firm	Item 1025			Item 1026			SUBTOTAL OF CATEGORY 1
	Construction Stakout			Mobilization			
	Unit Price (LS)	Est. Qty	Total Price	Unit Price (LS)	Est. Qty	Total Price	
Great Mills	\$100,000.00	1	\$100,000.00	\$300,000.00	1	\$300,000.00	\$1,676,560.00
Rustler	\$40,000.00	1	\$40,000.00	\$366,000.00	1	\$366,000.00	\$1,121,134.80
Corinthian	\$65,997.40	1	\$65,997.40	\$259,420.00	1	\$259,420.00	\$1,077,908.15
Reliable	\$94,000.00	1	\$94,000.00	\$200,000.00	1	\$200,000.00	\$1,250,248.20
Civil Construction	\$35,000.00	1	\$35,000.00	\$455,500.00	1	\$455,500.00	\$1,268,094.00

Bidding Firm	Item 2001			Item 2002			Item 2003			Item 2004		
	Class 1 Excavation			Class 1-A Excavation			Class 2 Excavation			Geo-synthetic Stabilized Subgrade using Graded Aggregate Base		
	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price
Great Mills	\$12.00	7000	\$84,000.00	\$18.00	1000	\$18,000.00	\$40.00	500	\$20,000.00	\$80.00	500	\$40,000.00
Rustler	\$41.50	7000	\$290,500.00	\$38.00	1000	\$38,000.00	\$35.00	500	\$17,500.00	\$85.00	500	\$42,500.00
Corinthian	\$49.73	7000	\$348,110.00	\$80.27	1000	\$80,270.00	\$36.41	500	\$18,205.00	\$76.64	500	\$38,320.00
Reliable	\$14.00	7000	\$98,000.00	\$30.00	1000	\$30,000.00	\$27.00	500	\$13,500.00	\$100.00	500	\$50,000.00
Civil Construction	\$32.00	7000	\$224,000.00	\$50.00	1000	\$50,000.00	\$35.00	500	\$17,500.00	\$95.00	500	\$47,500.00

Bidding Firm	Item 2005			Item 2006			Item 2007			Item 2008		
	Select Borow			Common Borrow Off-Site Source by Contractor			Common Borrow On-Site Source from the County			Test Pit Excavation		
	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price
Great Mills	\$35.00	500	\$17,500.00	\$20.00	6000	\$120,000.00	\$14.00	6000	\$84,000.00	\$150.00	300	\$45,000.00
Rustler	\$40.00	500	\$20,000.00	\$33.00	6000	\$198,000.00	\$18.00	6000	\$108,000.00	\$80.00	300	\$24,000.00
Corinthian	\$55.41	500	\$27,705.00	\$27.20	6000	\$163,200.00	\$9.64	6000	\$57,840.00	\$87.04	300	\$26,112.00
Reliable	\$44.00	500	\$22,000.00	\$29.00	6000	\$174,000.00	\$16.00	6000	\$96,000.00	\$70.00	300	\$21,000.00
Civil Construction	\$70.00	500	\$35,000.00	\$50.00	6000	\$300,000.00	\$20.00	6000	\$120,000.00	\$30.00	300	\$9,000.00

Bidding Firm	Item 2009			Item 2010			Item 2011			Item 2012			Item 2013		
	Test Pit Within Existing Asphalt via Core Drill/Vacuum Extraction			Removal of Existing Combination Curb and Gutter			Saw Cuts			Removal of Existing Pavement			Removal of Existing Inlets		
	Unit Price (EA)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Price (CY)	Est. Qty	Total Price	Price (CY)	Est. Qty	Total Price	Price (EA)	Est. Qty	Total Price
Great Mills	\$350.00	10	\$3,500.00	\$10.00	50	\$500.00	\$10.00	1000	\$10,000.00	\$40.00	500	\$20,000.00	\$500.00	10	\$5,000.00
Rustler	\$1,800.00	10	\$18,000.00	\$15.00	50	\$750.00	\$4.00	1000	\$4,000.00	\$43.00	500	\$21,500.00	\$2,000.00	10	\$20,000.00
Corinthian	\$803.25	10	\$8,032.50	\$29.79	50	\$1,489.50	\$4.49	1000	\$4,490.00	\$44.46	500	\$22,230.00	\$916.02	10	\$9,160.20
Reliable	\$570.00	10	\$5,700.00	\$13.00	50	\$650.00	\$4.50	1000	\$4,500.00	\$54.00	500	\$27,000.00	\$1,000.00	10	\$10,000.00
Civil Construction	\$800.00	10	\$8,000.00	\$10.00	50	\$500.00	\$3.00	1000	\$3,000.00	\$50.00	500	\$25,000.00	\$850.00	10	\$8,500.00

Bidding Firm	SUBTOTAL OF CATEGORY 2
Great Mills	\$467,500.00
Rustler	\$802,750.00
Corinthian	\$805,164.20
Reliable	\$552,350.00
Civil Construction	\$848,000.00

Bidding Firm	Item 3001			Item 3002			Item 3003			Item 3004		
	Stabilized Construction Entrance			Rehabilitate Stabilized Construction Entrance			Class 3 Excavation for Incidental Construction			Selected Backfill using AASHTO No. 57 Aggregate		
	Unit Price (TON)	Est. Qty	Total Price	Unit Price (TON)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price

Great Mills	\$50.00	50	\$2,500.00	\$50.00	25	\$1,250.00	\$100.00	100	\$10,000.00	\$75.00	100	\$7,500.00
Rustler	\$45.00	50	\$2,250.00	\$45.00	25	\$1,125.00	\$50.00	100	\$5,000.00	\$70.00	100	\$7,000.00
Corinthian	\$73.15	50	\$3,657.50	\$54.33	25	\$1,358.25	\$111.20	100	\$11,120.00	\$62.53	100	\$6,253.00
Reliable	\$54.00	50	\$2,700.00	\$54.00	25	\$1,350.00	\$60.00	100	\$6,000.00	\$115.00	100	\$11,500.00
Civil Construction	\$60.00	50	\$3,000.00	\$50.00	25	\$1,250.00	\$75.00	100	\$7,500.00	\$90.00	100	\$9,000.00

Bidding Firm	Item 3005			Item 3006			Item 3007			Item 3008		
	Flowable Backfill			Selected Backfill Using Crusher Run Aggregate CR-6			Removal of Existing Storm Drain Pipe, Any Size or Type			Mix 1 Concrete for Miscellaneous Structures		
	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price
Great Mills	\$150.00	30	\$4,500.00	\$77.00	100	\$7,700.00	\$7.00	210	\$1,470.00	\$550.00	10	\$5,500.00
Rustler	\$450.00	30	\$13,500.00	\$60.00	100	\$6,000.00	\$40.00	210	\$8,400.00	\$1,000.00	10	\$10,000.00
Corinthian	\$392.09	30	\$11,762.70	\$74.70	100	\$7,470.00	\$50.58	210	\$10,621.80	\$714.00	10	\$7,140.00
Reliable	\$260.00	30	\$7,800.00	\$110.00	100	\$11,000.00	\$64.00	210	\$13,440.00	\$880.00	10	\$8,800.00
Civil Construction	\$200.00	30	\$6,000.00	\$90.00	100	\$9,000.00	\$40.00	210	\$8,400.00	\$650.00	10	\$6,500.00

Bidding Firm	Item 3009			Item 3010			Item 3011			Item 3012		
	Mix 2 Concrete for Miscellaneous Structures			Brick Masonry for Miscellaneous Structures			Mix 3 Concrete for Miscellaneous Structures			15-Inch HDPE Pipe		
	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	\$600.00	10	\$6,000.00	\$750.00	10	\$7,500.00	\$650.00	10	\$6,500.00	\$32.00	460	\$14,720.00
Rustler	\$1,100.00	10	\$11,000.00	\$1,500.00	10	\$15,000.00	\$1,400.00	10	\$14,000.00	\$82.00	460	\$37,720.00
Corinthian	\$773.50	10	\$7,735.00	\$595.00	10	\$5,950.00	\$1,190.00	10	\$11,900.00	\$6.24	460	\$2,870.40
Reliable	\$880.00	10	\$8,800.00	\$1,100.00	10	\$11,000.00	\$1,500.00	10	\$15,000.00	\$75.00	460	\$34,500.00
Civil Construction	\$850.00	10	\$8,500.00	\$750.00	10	\$7,500.00	\$1,200.00	10	\$12,000.00	\$200.00	460	\$92,000.00

Bidding Firm	Item 3013			Item 3014			Item 3015			Item 3016		
	18-Inch HDPE Pipe			24-Inch HDPE Pipe			30-Inch HDPE Pipe			36-Inch HDPE Pipe		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	\$37.00	880	\$32,560.00	\$45.00	400	\$18,000.00	\$55.00	210	\$11,550.00	\$65.00	700	\$45,500.00
Rustler	\$88.00	880	\$77,440.00	\$95.00	400	\$38,000.00	\$113.00	210	\$23,730.00	\$142.00	700	\$99,400.00
Corinthian	\$74.01	880	\$65,128.80	\$80.33	400	\$32,132.00	\$76.03	210	\$15,966.30	\$76.80	700	\$53,760.00
Reliable	\$70.00	880	\$61,600.00	\$210.00	400	\$84,000.00	\$63.00	210	\$13,230.00	\$82.00	700	\$57,400.00
Civil Construction	\$210.00	880	\$184,800.00	\$220.00	400	\$88,000.00	\$230.00	210	\$48,300.00	\$230.00	700	\$161,000.00

Bidding Firm	Item 3017			Item 3018			Item 3019			Item 3020		
	42-Inch HDPE Pipe			48-Inch HDPE Pipe			Standard Type C Endwall for 48-Inch Pipe			15-Inch HDPE End Section		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price
Great Mills	\$75.00	1080	\$81,000.00	\$90.00	60	\$5,400.00	\$9,230.00	1	\$9,230.00	\$300.00	10	\$3,000.00
Rustler	\$168.00	1080	\$181,440.00	\$198.00	60	\$11,880.00	\$8,000.00	1	\$8,000.00	\$500.00	10	\$5,000.00
Corinthian	\$82.04	1080	\$88,603.20	\$163.18	60	\$9,790.80	\$7,856.77	1	\$7,856.77	\$2,289.00	10	\$22,890.00
Reliable	\$93.00	1080	\$100,440.00	\$250.00	60	\$15,000.00	\$16,535.00	1	\$16,535.00	\$570.00	10	\$5,700.00
Civil Construction	\$250.00	1080	\$270,000.00	\$300.00	60	\$18,000.00	\$6,500.00	1	\$6,500.00	\$1,200.00	10	\$12,000.00

Bidding Firm	Item 3021			Item 3022			Item 3023			Item 3024		
	Standard 5-Ft COG Inlet, Minimum Depth			Standard 10-Ft COG Inlet, Minimum Depth			Standard 15-Ft COG Inlet, Minimum Depth			Standard COG Inlet Vertical Depth		
	Unit Price (EA)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (VF)	Est. Qty	Total Price
Great Mills	\$4,000.00	3	\$12,000.00	\$4,800.00	5	\$24,000.00	\$7,000.00	1	\$7,000.00	\$160.00	3	\$480.00
Rustler	\$4,600.00	3	\$13,800.00	\$9,000.00	5	\$45,000.00	\$8,000.00	1	\$8,000.00	\$500.00	3	\$1,500.00
Corinthian	\$8,571.84	3	\$25,715.52	\$11,068.74	5	\$55,343.70	\$11,317.25	1	\$11,317.25	\$403.20	3	\$1,209.60
Reliable	\$5,475.00	3	\$16,425.00	\$6,000.00	5	\$30,000.00	\$8,630.00	1	\$8,630.00	\$115.00	3	\$345.00
Civil Construction	\$4,500.00	3	\$13,500.00	\$6,500.00	5	\$32,500.00	\$7,000.00	1	\$7,000.00	\$500.00	3	\$1,500.00

Bidding Firm	Item 3025			Item 3026			Item 3027			Item 3028		
	Standard Single Opening Type K Inlet Open Grate, Minimum Depth			Standard Single Opening Type K Inlet Open End Grate, Vertical Depth			Standard Double Opening Type K Inlet Open End Grate, Minimum Depth			Standard Double Opening Type K Inlet Open End Grate, Vertical Depth		
	Unit Price (EA)	Est. Qty	Total Price	Unit Price (VF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (VF)	Est. Qty	Total Price
Great Mills	\$2,700.00	2	\$5,400.00	\$190.00	3	\$570.00	\$3,700.00	5	\$18,500.00	\$190.00	5	\$950.00
Rustler	\$5,800.00	2	\$11,600.00	\$350.00	3	\$1,050.00	\$7,500.00	5	\$37,500.00	\$350.00	5	\$1,750.00
Corinthian	\$11,136.64	2	\$22,273.28	\$462.70	3	\$1,388.10	\$10,563.41	5	\$52,817.05	\$442.19	5	\$2,210.95
Reliable	\$4,365.00	2	\$8,730.00	\$275.00	3	\$825.00	\$5,750.00	5	\$28,750.00	\$175.00	5	\$875.00
Civil Construction	\$4,500.00	2	\$9,000.00	\$500.00	3	\$1,500.00	\$5,300.00	5	\$26,500.00	\$500.00	5	\$2,500.00

Bidding Firm	Item 3029			Item 3030			Item 3031			Item 3032		
	48-Inch Diameter Manhole for 12-Inch to 24-Inch Pipe, Minimum Depth			48-Inch Diameter Manhole, Vertical Depth			60-Inch Diameter Manhole for 27-Inch to 36-Inch Pipes, Minimum Depth			60-Inch Diameter Manhole, Vertical Depth		
	Unit Price (EA)	Est. Qty	Total Price	Unit Price (VF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (VF)	Est. Qty	Total Price
Great Mills	\$3,500.00	5	\$17,500.00	\$160.00	1	\$160.00	\$4,300.00	1	\$4,300.00	\$260.00	1	\$260.00
Rustler	\$1.00	5	\$5.00	\$1.00	1	\$1.00	\$6,800.00	1	\$6,800.00	\$300.00	1	\$300.00
Corinthian	\$8,697.49	5	\$43,487.45	\$515.57	1	\$515.57	\$13,448.40	1	\$13,448.40	\$882.34	1	\$882.34
Reliable	\$4,330.00	5	\$21,650.00	\$115.00	1	\$115.00	\$5,525.00	1	\$5,525.00	\$175.00	1	\$175.00
Civil Construction	\$5,500.00	5	\$27,500.00	\$500.00	1	\$500.00	\$7,500.00	1	\$7,500.00	\$500.00	1	\$500.00

Bidding Firm	Item 3033			Item 3034			Item 3035			Item 3036		
	72-Inch Diameter Manhole for 42-Inch and 48-Inch Pipes, Minimum Depth			72-Inch Diameter Manhole, Vertical Depth			6-Inch Diameter Perforated Circular Pipe Underdrain			6-Inch Circular Pipe Underdrain Outlets		
	Unit Price (EA)	Est. Qty	Total Price	Unit Price (VF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	\$7,500.00	4	\$30,000.00	\$350.00	1	\$350.00	\$18.00	3000	\$54,000.00	\$16.00	300	\$4,800.00
Rustler	\$11,500.00	4	\$46,000.00	\$400.00	1	\$400.00	\$17.00	3000	\$51,000.00	\$18.00	300	\$5,400.00
Corinthian	\$11,960.89	4	\$47,843.56	\$1,315.79	1	\$1,315.79	\$15.73	3000	\$47,190.00	\$15.40	300	\$4,620.00
Reliable	\$6,760.00	4	\$27,040.00	\$245.00	1	\$245.00	\$24.00	3000	\$72,000.00	\$20.00	300	\$6,000.00
Civil Construction	\$9,500.00	4	\$38,000.00	\$1,000.00	1	\$1,000.00	\$25.00	3000	\$75,000.00	\$25.00	300	\$7,500.00

Bidding Firm	Item 3037			Item 3038			Item 3039			Item 3040		
	Erosion and Sediment Control Original Excavation			Erosion and Sediment Control Cleanout Excavation			Earth Dike			Inlet Protection		
	Unit Price (CY)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price
Great Mills	\$50.00	60	\$3,000.00	\$50.00	300	\$15,000.00	\$10.00	240	\$2,400.00	\$300.00	10	\$3,000.00
Rustler	\$50.00	60	\$3,000.00	\$20.00	300	\$6,000.00	\$8.00	240	\$1,920.00	\$300.00	10	\$3,000.00
Corinthian	\$44.94	60	\$2,696.40	\$26.96	300	\$8,088.00	\$23.60	240	\$5,664.00	\$208.25	10	\$2,082.50
Reliable	\$10.00	60	\$600.00	\$20.00	300	\$6,000.00	\$6.00	240	\$1,440.00	\$370.00	10	\$3,700.00
Civil Construction	\$30.00	60	\$1,800.00	\$45.00	300	\$13,500.00	\$6.00	240	\$1,440.00	\$250.00	10	\$2,500.00

Bidding Firm	Item 3041			Item 3042			Item 3043			Item 3044		
	Temporary Swale			Temporary Outlet Structure			2-Inch to 3-Inch Stone for Sediment Control			4-Inch to 7-Inch Stone for Sediment Control		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (TON)	Est. Qty	Total Price	Unit Price (TON)	Est. Qty	Total Price
Great Mills	\$5.00	890	\$4,450.00	\$500.00	1	\$500.00	\$200.00	5	\$1,000.00	\$60.00	1000	\$60,000.00
Rustler	\$9.00	890	\$8,010.00	\$3,000.00	1	\$3,000.00	\$150.00	5	\$750.00	\$40.00	1000	\$40,000.00
Corinthian	\$16.73	890	\$14,889.70	\$2,680.99	1	\$2,680.99	\$110.25	5	\$551.25	\$72.50	1000	\$72,500.00
Reliable	\$6.00	890	\$5,340.00	\$725.00	1	\$725.00	\$110.00	5	\$550.00	\$30.00	1000	\$30,000.00
Civil Construction	\$10.00	890	\$8,900.00	\$1,000.00	1	\$1,000.00	\$100.00	5	\$500.00	\$35.00	1000	\$35,000.00

Bidding Firm	Item 3045			Item 3046			Item 3048			Item 3049		
	Silt Fence			Remove and Reset Silt Fence			Super Silt Fence			Remove and Reset Super Silt Fence		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	\$3.50	2000	\$7,000.00	\$3.00	200	\$600.00	\$12.00	150	\$1,800.00	\$7.50	50	\$375.00
Rustler	\$2.15	2000	\$4,300.00	\$2.15	200	\$430.00	\$18.00	150	\$2,700.00	\$12.00	50	\$600.00
Corinthian	\$2.98	2000	\$5,960.00	\$2.98	200	\$596.00	\$9.52	150	\$1,428.00	\$9.52	50	\$476.00
Reliable	\$3.00	2000	\$6,000.00	\$5.00	200	\$1,000.00	\$12.00	150	\$1,800.00	\$10.00	50	\$500.00
Civil Construction	\$3.00	2000	\$6,000.00	\$3.00	200	\$600.00	\$9.00	150	\$1,350.00	\$7.00	50	\$350.00

Bidding Firm	Item 3050			Item 3051			Item 3052			Item 3053		
	Sandbags			Stone Outlet Structure			Gabion Stone Outlet Structure			Class I Rip Rap		
	Unit Price (CF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (SY)	Est. Qty	Total Price
Great Mills	\$200.00	100	\$20,000.00	\$500.00	1	\$500.00	\$3,000.00	1	\$3,000.00	\$75.00	320	\$24,000.00
Rustler	\$10.00	100	\$1,000.00	\$3,500.00	1	\$3,500.00	\$3,000.00	1	\$3,000.00	\$67.00	320	\$21,440.00
Corinthian	\$37.16	100	\$3,716.00	\$2,539.66	1	\$2,539.66	\$2,857.11	1	\$2,857.11	\$72.57	320	\$23,222.40
Reliable	\$37.00	100	\$3,700.00	\$750.00	1	\$750.00	\$2,090.00	1	\$2,090.00	\$63.00	320	\$20,160.00
Civil Construction	\$20.00	100	\$2,000.00	\$1,000.00	1	\$1,000.00	\$1,000.00	1	\$1,000.00	\$85.00	320	\$27,200.00

Bidding Firm

Great Mills
Rustler
Corinthian
Reliable
Civil Construction

SUBTOTAL OF CATEGORY 3
\$608,275.00
\$908,641.00
\$865,493.09
\$797,480.00
\$1,314,890.00

Bidding Firm	Item 5001			Item 5002			Item 5003			Item 5004		
	Hot Mix Asphalt Superpave 12.5mm for Surface, PG70-22, Level 2			Hot Mix Asphalt Superpave 9.5mm for Wedge/Level, PG64-22, Level 2			Road Geotextile			Hot Mix Asphalt Superpave 19.0mm for Base, PG6-22, Level 2		
	Unit Price (TON)	Est. Qty	Total Price	Unit Price (TON)	Est. Qty	Total Price	Unit Price (SY)	Est. Qty	Total Price	Unit Price (TON)	Est. Qty	Total Price
Great Mills	\$92.00	3236	\$297,712.00	\$102.00	100	\$10,200.00	\$3.00	16700	\$50,100.00	\$85.00	4768	\$405,280.00
Rustler	\$99.20	3236	\$321,011.20	\$122.00	100	\$12,200.00	\$3.20	16700	\$53,440.00	\$88.20	4768	\$420,537.60
Corinthian	\$94.01	3236	\$304,216.36	\$119.00	100	\$11,900.00	\$3.39	16700	\$56,613.00	\$91.63	4768	\$436,891.84
Reliable	\$95.00	3236	\$307,420.00	\$120.00	100	\$12,000.00	\$3.50	16700	\$58,450.00	\$115.00	4768	\$548,320.00
Civil Construction	\$103.00	3236	\$333,308.00	\$126.00	100	\$12,600.00	\$3.00	16700	\$50,100.00	\$91.00	4768	\$433,888.00

Bidding Firm	Item 5005			Item 5006			Item 5007			Item 5008		
	4-Inch Graded Aggregate Base Course			4-Inch Crusher Run Aggregate CR-6			Milling Hot Mix Asphalt Pavement 0 Inch to 2 Inches			6-Inch Portland Cement Concrete Pavement for Driveway Mix 2		
	Unit Price (SY)	Est. Qty	Total Price	Unit Price (SY)	Est. Qty	Total Price	Unit Price (SY)	Est. Qty	Total Price	Unit Price (SY)	Est. Qty	Total Price
Great Mills	\$10.00	15318	\$153,180.00	\$15.00	450	\$6,750.00	\$10.00	400	\$4,000.00	\$65.00	280	\$18,200.00
Rustler	\$7.50	15318	\$114,885.00	\$7.80	450	\$3,510.00	\$30.00	400	\$12,000.00	\$70.00	280	\$19,600.00
Corinthian	\$11.44	15318	\$175,237.92	\$10.99	450	\$4,945.50	\$7.08	400	\$2,832.00	\$47.60	280	\$13,328.00
Reliable	\$11.10	15318	\$170,029.80	\$13.00	450	\$5,850.00	\$13.00	400	\$5,200.00	\$72.00	280	\$20,160.00
Civil Construction	\$9.50	15318	\$145,521.00	\$9.50	450	\$4,275.00	\$15.00	400	\$6,000.00	\$68.00	280	\$19,040.00

Bidding Firm	Item 5009			Item 5010			Item 5011			Item 5012		
	5-Inch White Lead Free Reflective Thermoplastic Pavement Markings			5-Inch Yellow Lead Free Reflective Thermoplastic Pavement Markings			12-Inch White Preformed Thermoplastic Pavement Marking Lines			12-Inch Yellow Preformed Thermoplastic Pavement Marking Lines		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	\$2.50	8000	\$20,000.00	\$2.50	10000	\$25,000.00	\$15.00	50	\$750.00	\$15.00	50	\$750.00
Rustler	\$1.05	8000	\$8,400.00	\$1.05	10000	\$10,500.00	\$9.00	50	\$450.00	\$9.00	50	\$450.00
Corinthian	\$1.13	8000	\$9,040.00	\$1.13	10000	\$11,300.00	\$8.93	50	\$446.50	\$8.93	50	\$446.50
Reliable	\$1.20	8000	\$9,600.00	\$1.20	10000	\$12,000.00	\$9.40	50	\$470.00	\$9.40	50	\$470.00
Civil Construction	\$1.15	8000	\$9,200.00	\$1.15	10000	\$11,500.00	\$9.00	50	\$450.00	\$9.00	50	\$450.00

Bidding Firm	Item 5013			Item 5014			Item 5015			Item 5016		
	White Preformed Thermoplastic Paement Marking Legends and Symbols			10-Inch White Preformed Thermoplastic Pavement Marking Lines			10-Inch Yellow Preformed Thermoplastic Pavement Marking Lines			6-Inch White Preformed Thermoplastic Pavement Marking Lines		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price
Great Mills	\$45.00	250	\$11,250.00	\$13.50	50	\$675.00	\$13.50	100	\$1,350.00	\$8.00	100	\$800.00
Rustler	\$35.00	250	\$8,750.00	\$9.00	50	\$450.00	\$9.00	100	\$900.00	\$6.00	100	\$600.00
Corinthian	\$38.08	250	\$9,520.00	\$8.63	50	\$431.50	\$8.63	100	\$863.00	\$5.06	100	\$506.00
Reliable	\$40.00	250	\$10,000.00	\$9.00	50	\$450.00	\$9.00	100	\$900.00	\$5.50	100	\$550.00
Civil Construction	\$25.50	250	\$6,375.00	\$9.00	50	\$450.00	\$9.00	100	\$900.00	\$7.00	100	\$700.00

Bidding Firm	Item 5017			Item 5018			Item 5019			Item 5020		
	4-Inch White Preformed Thermoplastic Pavement Marking Lines			24-Inch White Preformed Thermoplastic Pavement Marking Lines			Mix 1 Concrete for Base in Narrow Width Paved Areas			13-Inch Traffic Bearing Decorative Portland Cement Concrete Pavement		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (CY)	Est. Qty	Total Price	Unit Price (SY)	Est. Qty	Total Price
Great Mills	\$6.50	100	\$650.00	\$30.00	50	\$1,500.00	\$250.00	50	\$12,500.00	\$210.00	100	\$21,000.00
Rustler	\$5.00	100	\$500.00	\$20.00	50	\$1,000.00	\$220.00	50	\$11,000.00	\$195.00	100	\$19,500.00
Corinthian	\$3.87	100	\$387.00	\$17.85	50	\$892.50	\$238.00	50	\$11,900.00	\$190.40	100	\$19,040.00
Reliable	\$4.00	100	\$400.00	\$20.00	50	\$1,000.00	\$250.00	50	\$12,500.00	\$245.00	100	\$24,500.00
Civil Construction	\$6.00	100	\$600.00	\$17.00	50	\$850.00	\$250.00	50	\$12,500.00	\$250.00	100	\$25,000.00

Bidding Firm	SUBTOTAL OF CATEGORY 5
Great Mills	\$1,041,647.00
Rustler	\$1,019,683.80
Corinthian	\$1,070,737.62
Reliable	\$1,200,269.80
Civil Construction	\$1,073,707.00

Bidding Firm	Item 6001			Item 6002			Item 6003			Item 6004		
	Standard Type A Combination Curb and Gutter 8-Inch Gutter Pan 10-Inch Depth			Standard Type D Combination Curb and Gutter 12-Inch Gutter Pan 10-Inch Depth			5-Inch Concrete Sidewalk			Detectable Surface for Curb Ramps		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (SF)	Est. Qty	Total Price	Unit Price (SF)	Est. Qty	Total Price
Great Mills	\$21.00	7500	\$157,500.00	\$23.00	60	\$1,380.00	\$8.00	40000	\$320,000.00	\$50.00	270	\$13,500.00
Rustler	\$21.00	7500	\$157,500.00	\$20.30	60	\$1,218.00	\$7.00	40000	\$280,000.00	\$44.00	270	\$11,880.00
Corinthian	\$18.45	7500	\$138,375.00	\$18.45	60	\$1,107.00	\$6.31	40000	\$252,400.00	\$47.60	270	\$12,852.00
Reliable	\$19.50	7500	\$146,250.00	\$19.50	60	\$1,170.00	\$8.35	40000	\$334,000.00	\$45.00	270	\$12,150.00
Civil Construction	\$19.00	7500	\$142,500.00	\$19.00	60	\$1,140.00	\$8.50	40000	\$340,000.00	\$48.00	270	\$12,960.00

Bidding Firm	Item 6005			Item 6006			Item 6007			SUBTOTAL OF CATEGORY 6
	6-Foot Galvanized Chain Link Fence with Black Bonded Vinyl Coating			Terminal Post for 6-Foot Galvanized Chain Link Fence with Black Bonded Vinyl			12-Foot Gate for 6-Foot Galvanized Chain Link Fence with Black Bonded Vinyl Coating			
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	
Great Mills	\$24.00	800	\$19,200.00	\$300.00	14	\$4,200.00	\$1,500.00	1	\$1,500.00	\$517,280.00
Rustler	\$22.00	800	\$17,600.00	\$270.00	14	\$3,780.00	\$1,250.00	1	\$1,250.00	\$473,228.00
Corinthian	\$23.21	800	\$18,568.00	\$285.60	14	\$3,998.40	\$1,309.00	1	\$1,309.00	\$428,609.40
Reliable	\$29.00	800	\$23,200.00	\$400.00	14	\$5,600.00	\$10,000.00	1	\$10,000.00	\$532,370.00
Civil Construction	\$23.00	800	\$18,400.00	\$280.00	14	\$3,920.00	\$1,300.00	1	\$1,300.00	\$520,220.00

Bidding Firm	Item 7001			Item 7002			Item 7003			Item 7004		
	Placing Salvaged Topsoil 4-Inch Depth			Placing Furnished Topsoil 4-Inch Depth			Temporary Seeding			Temporary Straw Mulch		
	Unit Price (SY)	Est. Qty	Total Price	Unit Price (SY)	Est. Qty	Total Price	Unit Price (LB)	Est. Qty	Total Price	Unit Price (SY)	Est. Qty	Total Price
Great Mills	\$2.00	10200	\$20,400.00	\$5.00	1000	\$5,000.00	\$13.00	2400	\$31,200.00	\$1.50	5200	\$7,800.00
Rustler	\$3.00	10200	\$30,600.00	\$8.00	1000	\$8,000.00	\$10.00	2400	\$24,000.00	\$0.65	5200	\$3,380.00
Corinthian	\$1.97	10200	\$20,094.00	\$6.99	1000	\$6,990.00	\$11.90	2400	\$28,560.00	\$0.60	5200	\$3,120.00
Reliable	\$2.25	10200	\$22,950.00	\$8.95	1000	\$8,950.00	\$25.00	2400	\$60,000.00	\$0.70	5200	\$3,640.00
Civil Construction	\$3.00	10200	\$30,600.00	\$7.50	1000	\$7,500.00	\$10.00	2400	\$24,000.00	\$2.00	5200	\$10,400.00

Bidding Firm	Item 7005			Item 7006			Item 7007			Item 7008		
	Turf-Grass Establishment			Re-Fertilizing			Tractor and Hand Mowing			Turf-Grass Sod Establishment		
	Unit Price (SY)	Est. Qty	Total Price	Unit Price (LB)	Est. Qty	Total Price	Unit Price (HR)	Est. Qty	Total Price	Unit Price (SY)	Est. Qty	Total Price
Great Mills	\$2.00	16400	\$32,800.00	\$1.00	2400	\$2,400.00	\$55.00	100	\$5,500.00	\$6.00	800	\$4,800.00
Rustler	\$1.00	16400	\$16,400.00	\$5.00	2400	\$12,000.00	\$85.00	100	\$8,500.00	\$5.00	800	\$4,000.00
Corinthian	\$0.77	16400	\$12,628.00	\$1.49	2400	\$3,576.00	\$65.45	100	\$6,545.00	\$3.57	800	\$2,856.00
Reliable	\$1.00	16400	\$16,400.00	\$25.00	2400	\$60,000.00	\$60.00	100	\$6,000.00	\$5.00	800	\$4,000.00
Civil Construction	\$1.00	16400	\$16,400.00	\$2.00	2400	\$4,800.00	\$75.00	100	\$7,500.00	\$3.50	800	\$2,800.00

Bidding Firm	Item 7009			Item 7010			SUBTOTAL OF CATEGORY 7
	Type A Soil Stabilization Matting			Landscaping SWM Pond #1 (Allowance)			
	Unit Price (SY)	Est. Qty	Total Price	Unit Price (LS)	Est. Qty	Total Price	
Great Mills	\$3.50	260	\$910.00	\$10,000.00	1	\$10,000.00	\$120,810.00
Rustler	\$5.00	260	\$1,300.00	\$10,000.00	1	\$10,000.00	\$118,180.00
Corinthian	\$2.02	260	\$525.20	\$10,000.00	1	\$10,000.00	\$94,894.20
Reliable	\$225.00	260	\$58,500.00	\$10,000.00	1	\$10,000.00	\$250,440.00
Civil Construction	\$3.00	260	\$780.00	\$10,000.00	1	\$10,000.00	\$114,780.00

Bidding Firm	Item 8001			Item 8002			Item 8023			Item 8003		
	Wood Sign Supports Inch x 4 Inch			Wood Sign Supports 4 Inch x 6 Inch			Wood Sign Supports Inch x 8 Inch			Sheet Aluminum Signs		
	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (LF)	Est. Qty	Total Price	Unit Price (SF)	Est. Qty	Total Price
Great Mills	\$8.00	370	\$2,960.00	\$9.00	471	\$4,239.00	\$17.00	115	\$1,955.00	\$35.00	356	\$12,460.00
Rustler	\$10.00	370	\$3,700.00	\$12.00	471	\$5,652.00	\$28.00	115	\$3,220.00	\$30.00	356	\$10,680.00
Corinthian	\$12.50	370	\$4,625.00	\$14.88	471	\$7,008.48	\$59.50	115	\$6,842.50	\$23.80	356	\$8,472.80
Reliable	\$5.00	370	\$1,850.00	\$10.00	471	\$4,710.00	\$15.00	115	\$1,725.00	\$20.00	356	\$7,120.00
Civil Construction	\$12.00	370	\$4,440.00	\$14.00	471	\$6,594.00	\$35.00	115	\$4,025.00	\$24.00	356	\$8,544.00

Bidding Firm	Item 8004			Item 8005			Item 8006			SUBTOTAL OF CATEGORY 8
	Relocate Existing Ground Mounted Signs			Adjust Fire Hydrant			Relocate Fire Hydrant			
	Unit Price (SF)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	Unit Price (EA)	Est. Qty	Total Price	
Great Mills	\$50.00	38	\$1,900.00	\$1,000.00	1	\$1,000.00	\$2,500.00	1	\$2,500.00	\$27,014.00
Rustler	\$10.00	38	\$380.00	\$3,800.00	1	\$3,800.00	\$7,000.00	1	\$7,000.00	\$34,432.00
Corinthian	\$3,071.66	38	\$116,723.08	\$6,570.30	1	\$6,570.30	\$17.26	1	\$17.26	\$150,259.42
Reliable	\$26.00	38	\$988.00	\$3,590.00	1	\$3,590.00	\$5,250.00	1	\$5,250.00	\$25,233.00
Civil Construction	\$20.00	38	\$760.00	\$2,000.00	1	\$2,000.00	\$5,000.00	1	\$5,000.00	\$31,363.00

Bidding Firm	Item 11001			SUBTOTAL OF CATEGORY 11
	5-Inch White Lead Free Reflective Thermoplast. Pavement Markings			
	Unit Price (LS)	Est. Qty	Total Price	
Great Mills	--	--	\$350,000.00	\$350,000.00
Rustler	--	--	\$350,000.00	\$350,000.00
Corinthian	--	--	\$350,000.00	\$350,000.00
Reliable	--	--	\$350,000.00	\$350,000.00
Civil Construction	--	--	\$350,000.00	\$350,000.00

Bidding Firm	Contract Total Cost
Great Mills	\$4,809,086.00
Rustler	\$4,828,049.60
Corinthian	\$4,843,066.08
Reliable	\$4,958,391.00
Civil Construction	\$5,521,054.00